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CHLAA mmnwmm Test Booklet Code

This Booklet contains 24 pages. G G

Do not open this Test Booklet until you are asked to do so.

Read carefully the Instruections on the Back Cover of this Test Booklet.

Important Instructions :
1

The Angwer Sheet is inside this Test Booklet. When you are direeted to open the Test Booklet,
take out the Answer Sheet and fill in the particulars on Side-1 and Side-2 carefully with
blue/black ball point pen only.

The test is of 8 hours duration and this Test Booklet contains 180 questlons Each question
carries 4 marks. For each correct response, the eandidate will get 4 marks. For each incorrect
response, one mark will be deducted from the total scores. The maximum marks are 720.

3. Use Blue/Black Ball Point Pen only for writing particulars on this page/marking responses.

Rough work is to be done on the space provided for this purpose in the Test Booklet only.

5. On completiofi of the test, the candidate must hand over-the Answér.Sheet to the

Invigilator before leaving the Room/Hall. The candidates are allowed to take away
this Test Booklet with them.

The CODE for this Booklet is GG. Make sure that the CODE printed on Side-2 of the Answer
Sheet is the same as that on.this Test Booklet. In-case of discrepancy, the candidate should
immediately report the matter to the Invigilator for replacement of both the Test Booklet and
the Answer Sheet.

The candidates should ensure thai: the Answer She,et is not folded. Do not make any stray
marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified
space in the Test Booklet/Answer Sheet.

Use of white fluid for correction is not permissible on the Answer Sheet.
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1«.

3.

4‘

5. Select the correct stateme 1t

(2)

raisal Committee
and Industrial

Research (ICMR)

mmonly used as a

fragment in human

L AP eaedl

; Biodegradation

(1) Spliceosomes take part in translation. Bioexploitation
(2) Transduction was discovered by S. Altman. (3) Biopiracy
(3 Punnett square was developed by a British (4) Bio-infringement
2 b ‘new’ ted by a foreigr
_ h ieties have beer
6. ic of the following has proved help present in India for a long ti his is related to
presemng pollen as fossﬂs i (1) Lerma Rojo
(1) Oil content (2) Basmati
@ APy Senn (3) Sharbati Sonora
(8) Cellulosic intine 4) Co-667
oo ) Pollehleigt Al fau, 1 SR S g
7.  Which of the followmg ﬂowers only once in its|13. Select the correct match : :
life-time ? : (1) T.H.Morgan — Transduction
g; I;ia:;;gyoa (2) G. Mendel ~ — Transformatior
(3) Jackfruit (8) F,x Recessive parent — Dihybrid cross
(4) Bamboo species (4) Ribozyme — Nucleic acid
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14. Which of the following is ly matched ?
(1) Ittakes parti - Mamhant:a
(2) i —  Chlorella
Brown algae
(3) Polysiphonia
4) in T with those in
15. ; s
ct option given
16.
in an area
17. ;
here dried and
: t specimens
18 et containing a list
al temates which are
@ T2 helpful in identification of
H3) Liglfﬁ various taxa.
(4) Temperature , - d
19. The two functional groups character iv 5 2
el £2) i iv i ii
(1) carbonyl and phosphate @) iii i ; S
; ; XY o
20. The stage during which separation of the paired
homologous chromosomes begins is (2) Pinus
(1) Diakinesis (3) Cycas
(2) Zygotene (4) Mustard
(3) Diplotene
(4) Pachytene After karyogamy followed by meiosis, spores are
21. Stomata in grass leaf are produced exogenously in
(1) Rectangular (1) Agaricus
(2) Barrel shaped (2) mhmyc%
(3) Kidney shaped (3) Alternaria
(4) Dumb-bell shaped (4) Neurospora
CHLAA/GG/Page 3 SPACE FOR ROUGH WORK English
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27.

paving the habitat
entering a habitat

29.

30. sl sCh _
liquid nitrogen having a tempe g™ June ;
(1) -196°C
@ -160°C
(3) -80°C
4

JETQRBA.

. What type of ‘ecological pyramid would
obtained with the following data ? : ‘
:120 g

respiration ? : 7 ‘ pyramic .
(1) It is a nucleotide source for ATP synthesis. (2) Upright pyramid of biomass
(2) Tt is the final electron acceptor for anaerobic (3) Pyramid of energy
% respiration. 2 _ 3 < S
- 4) Inverted f biomas
(3) It functions as an electron carri rier. - il o Pytmoii of DeCion
(4) It functions as an enzyme. 38. In stratosphere, which of the following eleme
: HOT VTSRO " acts as a catalyst in degradation of ozone ¢
32. %; v;fﬁ}:s (;f the following forms is iron absorbed release of molecular oxygen ? :
(1) Free element (1) Fe_
(2) Both ferric and ferrous @) O=ygen
(3) Ferrous 3 Cl
(4) Ferric - _ (4) Carbon |
CHLAA/GG/Page 4 : SPACE FOR ROUGH WORK L



40.

41'

43.

(1) ail !
@) s ¢ : anbranche * Column II
(Part of Excretory

(3) Selaginella is heterospore : System)
is homosporous. x e
(4) Ovules are not enclosed by ova 1 o e it
gymnosperms, b. Concentration ii. Ureter
Select the wrong statement : of urine :
(1) udepedia y are«locome ) ort, i, U ladder
(2) g ; 19 : he T !
BHHI S St o " corpuscle
(3) Mushrooms belong to Basidiomycetes.. o
(4) Cell wall is present in members of Fungi . v. Proximal
and Plantae. - convoluted tubule
Secondary xylem and phloem in dicot stem are & iy e d
produced by ; ; a = i
(1) Phellogen e 5 ;
(2) Axillary meristems o B v olenad iii
(8) Vascular cambium {8). iw i i iii -
(4) Apical meristems _ W v - i i

CHLAA/GG/Page 5 SPACE FOR ROUGH WORK English
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51.

_ (2)

é follov
» of bloo

Adaptwe radlatlon
Analogy

(4) Homology

58.

59.

s uaed to 1dent1fy

Dmoﬂagellates

Ciliates differ from all other protozaans in

excess Water
using flagella for locomotion

@

Identify the vertebrate ~of animals

53. In which disease does mosquito transmitted characterized bycrop and g:mmmnﬁgesuve
pathogen cause chronic inflammation of system.
. .3 > ? ¥
.lslrmphlaftlc vessel;i;; i T
@) Soprorn: fsanse (2) Osteichthyes
(2) Amoebiasis 3) Reptili .
(8) Ascariasis ; A:) h;a
(4) - Elephantitite S Dompran.
CHLAA/GG/Page 6 SPACE FOR ROUGH WORK ~ English
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61.

63.

(2) In spermiogenesis spermatozoa are formed,

and pre-reproductive

regnancy are
B ; 7 qual in number.

(1) PL, progestog i S e ) pr : ividuals are less than
@ : - the: '

are less than the
(3)

are more than

(4)
The to obtain the )
(5 g
(2)
(3)

The a o is derived

e radiation
(1) '

(@) :

@) iv. Waste disposal
(4) j

ii

The difference betw iv iii
spermiation is iv ii
(1) In spermiogenesis spermatozoa from sertoli (4) i i iii iv

cells are released into the cavity of
i g tub S

ing _ population
ical science for

while in spermiation spermatozoa are (2) Amensalism
released from sertoli cells into the cavity of (3) Mutualism
seminiferous tubules. (4) Commensalism
(3) In spermiogenesis spermatozoa are formed, |68, All of the following are included in ‘Ex-situ
while in spermiation spermatids are conservation’ except
formed. o (1) Botanical gardens
(2)+ Seed hanks

(4) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are (3) Sacred groves
formed. : ' (4) Wildlife safari parks

CHLAA/GG/Page 7 ' SPACE FOR ROUGH WORK | English



70.

connecting left anc
right cerebral
hemispheres.

consists of fibre
tracts that

al =
brain; controls
movement.

71.

< s controls respiratio
@ ii;;tac e: and cardiovascula
ament. reflexes.

(2) prevents the formation of bonds between | :
the myomn Cross bndgas and the actin|75. Which of the following hormones can play

significant role in osteoporosis ?

1) hormone
) . Pars Prolactin
(4) binds to troponin to remove the masking of @ ngestemne and Aldosterone
active sites on actin for myosin. (4)  Aldosterone and Pm!actm

72. Which of the following is an occupatlonal

76. .The transparent lens in the human eye is held
respiratory disorder ?

its place by
(1) Botulism _ (1) simmooth masEles attached to the iris
(2) Emphysema ' (2)  smooth muscles attached to the ciliary bod
(8) Silicosis. (3) ligaments attached to the iris
(4) Anthracis . (4) ligaments attached to the ciliary body

CHLAA/GG/Page 8  SPACEFORROUGHWORK \ ~ Engl
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79.

77. Which of the followi
represents the lung
emphysema, respec

(1)
@

(3)

78'

s it is supplied
ydrogen atoms.
akes place in

Match the items given in Column I with ¢
Column II and select the correct option given
below :

iii. 500 — 550 mL

¢.  Expiratory Reserve
volume

4) : Thecodont, Diphyodont, Homodont

84. Which of the following events does not occur in

rough endoplasmic reticulum ?

1

2

(3) Protein glycosylanon
(4) Protein folding

Select the incorrect match :

d. Residual volume iv. 1000 - 1100 mL (1) Submetacentric — L-shaped chromososmes
& b - d chromosomes : oo
@ i e i i (2) Egioﬁ:; i — Qocytes of amphibians
@) v i i i (3) Allosomes — Sex chromosomes
@) i i iv ii (4) Lampbrush - Diplotene bivalents
(4) iii ii i iv chromosomes '
CHLAA/GG/Page 9 SPACE FOR ROUGH WORK English



ing fork is used to produce resonance -in‘?_é
The length of the air column in this
adjusted by a variable piston. Al
. : re of 27°C two successive
(1) ACEHE RS are produced at 20 cm and 73 cm o
- P11 frequency of the tuning forl

sound in air at 27°C is

86. AGGTATCGCAT is

87.

n the metal plate

to the distanc

to the distanc

1 rest through a vertic
and vertically upwai

ough the same vertical distance h. The time

@ i of the electron, in comparison to the time
' fall of the proton is ; A
(3) . (1) 10 times greater
(4) iii (2)  equal :
. A ) 5 :
(4) s M s
I S : :
(2) Gl 94. A pendulum is hung ~ the roof of
3) : structural genes sufficiently high building and is moving freely
(4) an operator : and fro like a simple harmonic oscillator. T

acceleration of the bob of the pendulum
20 m/s® at a distance of 5 m from the me
position. The time period of oscillation is

90. A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by :

(1) Only grandchildren (1 2s

(2) Both sons and daughters ; (2) 1s

(3) Only sons ‘ 3) ms :

(4) Only daughters . (4) 2ns =
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95. Current sensitivit'y of' a movi

o © o m

es

he

jlish

edium with a
s oscillating
png +y axis
etic field of
97. A thin rgy stored in a certain
between the / the current in the
curre:?t in the ‘inductor is of inductance
(1
102. The refractive index of the material of a prism is
e prign is One of the
A NNT&\WG : ] sm is made a
(4) the current source mirror inwards, by silver coating. A beam of
I : £ monochromatic light entering the prism from the
_98' i;ﬁrgg%uﬁ;;n::;?ﬁrsizsfﬁ: : other face will retrace its path (after reflection
source GLERE ¥ = 10 sin 314 t. The power lose in from the silvered surface) if its angle of incidence
the circuit is on the prismis
1) 274W (1) 30°
(2 113W (2) zero
(3) 043W (3) 45°
4) 07T9W 4) 60° J
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dlsintegmtmn of 45 -

(1 30
(2)

threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident

radiation is increased to 5v,, the maximum |
velocity of electrons emitted from the same plate |

is vy. The ratio of v; to vy is
3 4:1
2 221
3 1:4
(4) 1:2

f;JQ PBAN K

B as

A
@B

3)
(4)

. is 20 V, Vg = 0 and Vg =
'IcandBaregwenb.Y oo

aﬁects only forward resistanee
4) affects only reverse resmtanm

100, Iri the -combination of the Sollatviny. il
output Y can be written in terms ofm"‘.

OHLANGGIPage 12
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i

with rings of  glIN L B : s point and boiling point of
identification. Th

(1)
(2)
(3)

(4) Vi - Orange= Silve . : f 2 as varies with

) .1pe Ift.he length of the clo:sad organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12:5cm

(2) 16 cm

I ¥
UIPIQPBANIKK (;Q
. ; 116. At what tempera the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth s atmosphere ?

S ——— FSa——

1‘ : ; g (Given :
(3) : Mass of oxygen molecule. (m) = 2:76 x 10728 kg
Bl ety - ; Boltzmann’s constant kp = 1-38 x 10_2? JK
1 3 1) 5016x10°K
'? B ; Srie o (2) 1254x10*K
(4} o ; PR 4
e & (3) 8360x10°K
0 —>n

| 4) 2508x10*K
CHLAA/GG/Page 13 T SPADE PORNOUBA WORK English




] 'Kc, r,eapectwely AC is tlm . Y:
S rpendlcnlar tn AC at -'

2

e

;

viscous liquid. As a resul
to viscous force. The rate

WA zﬁ’h‘ere a1:1-.4a11:1s its ?" minal velocity, is | remain cnnsi;ant for the sphere ?
to .
propo::;.mn (1) Rotational kinetic energy

3 % 2 (2) Angularmomanmm

124. If the mass of the Sun ware ten times ST

120. A sample of 0'1 g of water at 100°C and normal and the universal gravitatior Sopatant ¥
pressure (1:013 x 10° Nm™2) requires 54 cal of ten times larger in magnitu _fa_, which of
heat energy to convert to steam at 100°C. If the  following is not correct ? E

} volume of the steam produced is 167-1 cc, the (1) Time period of a simple péndulum
change in internal energy of the sample, is Earth would decrease.
(1) 4224J ; (2) ‘g on the Earth will not change.
(2) 8454d (3) Walking on the ground would become
(3) 2087d \ difficult. _
- (4 1043J ‘ (4) Raindrops will fall R
CHLAA/GG/Page 14 SPACE FOR ROUGH WORK E
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126.

relatmn
(1)

(3)

127. v m, cq

er s nary block havmg mass
lighter block comes to rest after collision. Wh
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1)
(2)
(3)
>, .‘4"

128. Which one of the following statements is
incorrect ?

(1)  Frictional force opposes the relative motion.

e SRE 8 i Nis s
he force, F =4i +5j — 6k at
point (2, — 2, — 2), is given by

a fnctmnless

m/s in one

a smooth inclined
s shown in the

(1)

UPIQPBANK COM

a= gcose

cosec 0
132. A student measured the diameter of a ama.ll steel
ball using a screw gauge of least count
0-001 em. The main scale reading is 5 mm and
zero of circular scale division coincides with

(2) Coefficient of sliding friction _has 25 divisions above the reference level. If screw
dimensions of length. gauge has a zero error of — 0-004 cm, the correct
(3) Limiting value of static friction is directly diameter of the ball is
: sl 2 X (1) 0053 em
proportional to normal reaction. 2) 0529 cm
(4) Rolling friction is smaller tha.n sliding (3) 0-525cm
friction. : (4) 0521 em
CHLAA/GG/Page 15 smét POR Roueu WORK ‘English
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134. 1

be changed to

(1) 21mm
(2) 17mm
3) 19mm

LBIQPBANKGEL

large angular magnification and high angular
resolution, when it has an objective lens of

(1) large focal length and large diameter

(2)  small focal length and small diameter
(3) large focal length and small diameter
(4) small focal length and large diameter

oxidation state of
ifferent emf values as

1-595 V

ionation

. ~, Z
SPITOPOIL

39. The correct difference between first- and

second-order reactions is that

(1) a first-order reactmn can be catalyzed; a
seco: er & annot be catalyzed

reaction does

an reactant concentranons :
(3) the half-life of a first-order reaction does not
depend on [Aly; the halflife of a
second-order reaction does depend on [A],
(4) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on

CHLAA/GG/Page 16
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140. The type of iépmeﬁém 3
[CoCly(en),] is

(1) Ionization isg \«\

(2)

141. Which
y of lone pairs

142.

-----

143.

All are oxidizing agents.

Column II and assign the correct code : (4) All form monobasic oxyacids.
Column I
gp
c. Fe*
d N
150. The correct order of atomic radii in group 13
a b © d : elements is : :
(1) iw i il iil (1) B<Ga<Al<Tl<In
@ B v @ B<Ga<Al<In<Tl
{3y 4 i ii iv : (3) B<Al<Ga<In<Tl
W W & i i (4) B<Al<In<Ga<Tl
CHLAA/GG/Page 17 SPACE FOR ROUGH WORK : English



151. In the reaction ‘ i following molecules represents the
OH ation spz, _spz, sp, sp from left to
+ + o T H,
- "\
the el 1 is 2) C‘%&.
a ] ani Cly) g
4) H -
( ben \
/ e \
ation ( ollow
?
ymethy s
L BB NO,
152. ids ha . 7 1 § : an Z 1
ton d even alcoho of |
(1) i iation of carboxylic
Wa i
(2) & olecular H-bonding ‘
(3) fo e ion @

(4) form

158. Compound A, C
NaOI (produced by re.
yields a yellow precipitate
smell.
A and Y are respectively

URIEPBANKEOM

CHj4

(@ CHy —{’j— OHand I

@ {_)-CH,~CH,-OHand I,

@ HC—{ ) CH,~OHandl,

A G B

166. Which of the following is correct with respect to

— 1 effect of the substituents ? (R = alkyl)
(1) -NHy>-OR>-F
(2 -NRy>-OR>-F
(3 ~NRy<-OR<-F
(4) -NHy<-OR<-F

CHLAA/GG/Page 18
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157. Regarding cross-linked

which of the following st Mn2* + CO, + H,O
e L 2 2

the reactants for the

158.
will favour
ct in the
XkJ?

159.

' G the ratio of 1:0-5: 1. AH for the formation
160. A mixture of 2:3 g formic acid and 45 g oxali of XY is —200 kJ mol™". The bond dissociation
acid is treated with conc. HZSO4 The evolved energy of Xy will be :

) » 800 kJ mol2
N OM
)% 100 kFmo

(4) 200 kJ mol™*

166. The correction factor ‘a’ to the ideal gas equation

S corresponds to
161. Which of the following oxides is most acidic in (1) electric field present between the gas
nature ? molecules :
(1) BaO : (2) forces of attraction between the gas
(2) CaO molecules
(3) BeO S : (3) volume of the gas molecules
(4) MgO (4) density of the gas molecules

CHLAA/GG/Page 19 SPACE FOR ROUGH WORK English



[ ——.

169. Given van der
and CO, are respe
859, which one of the
easily liquefied ?
(1)_ 402

in water 1s
242 x 10~ gL"'1 at 298 K The value of its
solubility product (K,) will be
(Given molar mass of BaSO, = 233 g mol )

(1) 108 x 107 mol® L2

) @ @ OHaﬂHg—OH

URPIQPBANK.COM

172. Which of the following compounds can fﬂrm a
zwitterion ?

(1) Benzoic acid

i ; (2) Glycine
2 108x 10~ mol® L2
i (3) Acetanilide
(3) 1:08x10 “mol” L~
Sl (4) Anilin
@) 108x10 1 mol®> L2 ( i
CHLAA/GG/Page 20 SPACE FOR ROUGH WORK ‘ ~ English
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176. Hy PJ
substitution to fo .

C,H50H, C,H,Cl, C,HONa
CoH5OH, CyHg, CoH5Cl

Wurtz reaction is converted

hydrocarbon containing less than four carbon

atoms. (A) is

(1)

@

(3)
(4)

CHy~CHy

CH,
CH, = CH,
CH=CH

mass and atomic
with temperature)

3J2
J3
| isa
to gaseous i electromc conﬁguratm atom is
182 262 2p} 2p) 2p)
v [0 L

(2) " The value of m for dzé is zero.

(3) An orbital is designated by three quantum
numbers while an electron in an atom is

_ designated by four quantum numbers.

(4) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.
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